
Year 3 
Quick Maths

Spring – Week 1



1 45 + 42 = ___ /1

2 345 – 121 = _____ /1

3 468 + 10 = ____ /1

4 8 × 5 = ___ /1

5 18 + 6 + 2 = ___ /1
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1 45 + 42 = ___ /1

2 345 – 121 = _____ /1

3 468 + 10 = ____ /1

4 8 × 5 = ___ /1

5 18 + 6 + 2 = ___ /1

Year 3 | Quick Maths | Spring | Week 1 | Day 1 | Answers

87

478
40

26

224
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1 647 – 100 = ____ /1

2 35 ÷ ___ = 7 /1

3 63 – 16 = ____ /1

4 32 × 8 = ____ /1

5 ½ of 24cm = ____cm /1
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1 647 – 100 = ____ /1

2 35 ÷ ___ = 7 /1

3 63 – 16 = ____ /1

4 32 × 8 = ____ /1

5 ½ of 24cm = ____cm /1

Year 3 | Quick Maths | Spring | Week 1 | Day 2 | Answers

547

47
256

12

5
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1 543 + 200 = ____ /1

2 ___ ÷ 4 = 𝟑
𝟒 /1

3 79 + 15 = ____ /1

4 6 × 24 = ____ /1

5 ¼ of 36kg = ____kg /1
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1 543 + 200 = ____ /1

2 ___ ÷ 4 = 𝟑
𝟒 /1

3 79 + 15 = ____ /1

4 6 × 24 = ____ /1

5 ¼ of 36kg = ____kg /1

Year 3 | Quick Maths | Spring | Week 1 | Day 3 | Answers

743

94
144

9

3
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1 67 + ____ – 45 = 55 /1

2 ¾ of 40 = ___ /1

3 595 + 236 = ____ /1

4 7 ÷ ___ = 𝟕
𝟏𝟎 /1

5 30p + 95p = £1 and ____p /1
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1 67 + ____ – 45 = 55 /1

2 ¾ of 40 = ___ /1

3 595 + 236 = ____ /1

4 7 ÷ ___ = 𝟕
𝟏𝟎 /1

5 30p + 95p = £1 and ____p /1

Year 3 | Quick Maths | Spring | Week 1 | Day 4 | Answers

33

831
10

25

30
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1 352 – 87 = ____ /1

2 ¼ of 40 = ½ of ___ /1

3 3 × ___ = 24 ÷ 4 /1

4 400 – ____ = 4 × 33 /1

5 100 + ____ = 5 × 47 /1
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1 352 – 87 = ____ /1

2 ¼ of 40 = ½ of ___ /1

3 3 × ___ = 24 ÷ 4 /1

4 400 – ____ = 4 × 33 /1

5 100 + ____ = 5 × 47 /1

Year 3 | Quick Maths | Spring | Week 1 | Day 5 | Answers

265

2
268
135

20

© EdShed, 2020-


